%

SR RN

D 2y v (o -y
I Y3y ¢

2% -

] -

B AR PSP
-y (.0.,‘ - 0‘.\3 - M(.04 -_o% 3 (.0‘1'.06\

-4 (- oz) t ’5(-07%

oSt
G-lov

V-









})(/3.5\/ Fem

£ B fyskm @ hytea>e.
a3 X +‘5'7.\I *C'i-:dl

DX oy 15

+le cnloTion g




Ex Sohe (Zya2y-32=]

3%""710(%:2
| |
' CW\W\AVS K v
USIV\ﬁ- - ‘-3\
[ 2 =3 2 b
ALY
2 =4 Y Y‘f R
X-' | -1 z-'s‘
2 O
3 -‘ff-(l
|-' 2 “
2 0 o
%'_ ES —y _L
? ‘-EL 2 —_l.so
=T° \{- 'O ’0
"L.L --.".?'_- 2_-§S_
X « M= 2
3%
(lis.‘\ {\'g_



HY-S K AN
0] A s « X e oreft

2x2 No calc
RxN calc



	Page 1: Jan 4-2:10 PM
	Page 2: Dec 17-9:54 AM
	Page 3: Dec 17-10:06 AM
	Page 4: Dec 17-10:10 AM
	Page 5: Dec 17-10:15 AM
	Page 6: Dec 17-10:21 AM

